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Note: 1. Question no. 1 is compulsory. X Eg
2. Attempt any three questions out of remaining ﬁvé‘ﬁuestib__ns_.__.-

Q.1.[a] Determine the constants a, b, ¢, d so that the functlon _:,
) =% 2 4 axy + by* +i(ex? +dxy+Y’) . 115 :
[b] Let A = {1,2,3,4},B = {1,2,3,4} and “aﬂbﬁan&myﬁm of > S35

4.

equal to b”. Find R and its digraph.

[¢] For the sets A, B, C given that AnB' -

it necessary that B =C? Justify.
[d] Find Laplace transform Of s wie @
f(t)y=t for O&:ft _<'1-" SRR S0 Sl

Q.2.[a] 75 Children went to an‘ amnseﬁ’mnt parkw"herc they can [6]
the merry-go-round, roller coaSter and ferris wheel: '
that 20 of them have taken‘all 3 rides, and: 55 0f themshave taken
at least two of the 3 rides. Egach“nde 'S@ﬂ#ﬁﬁ. Rs and-the fota
rece1pt of the qi‘nuscmeni gﬁrk\iwgs T0.RsZD ine the number
X (6]
[4]
(4]
(6]
(6]

R = {(a,b) fasb. is aﬁ odd positive integer }. Is R reflexive ?
- Symumetri c? Aﬁti'symmetric ? Transitive ? An equivalence relation ?

T A partial ordering set?
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(c] Evaluate () Lite*sind] (@ L[m’s’“ “M‘df]-'-‘ 8L

-1
Q.4. |a] Evaluate using Convolution theorem {

[b] Find the transitive closure of R where R be

(=]

represented by

o o o

piversity /4: of ﬁléprofessors play tennis,
70% Jog g, 20% f@y tennis and bridge,

i L 40% play bridge and jog. If someone claimed

fess ofs jOg and’play bridge and tennis, would you

Q.6. [a] It m‘kmwn ﬂmt at the it
“So%ofﬂzbm‘p%a.

o)

répe itle s-are not permitted. (6
C dlglt nurnbers can be formed from the dlglts

ny oﬁhe'numbers in part (a) areless han 40007
i) How many bf the numbers in part (a)are odd?
v many of the nurﬁbers in part (a) are multiples of 57

o ; A-3s
1l Evaluate (1) 25 [2“‘“‘1 s] @yt 0 s (8]
¥ . =, 4 - b S+

Page | 2

6DFSZC5EOADAT4A02'J3EDTF9 18BFAS529




